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ifi 1 14, 899, 429 14, 899, 429
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i) 1 44, 153 44, 153
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i) 1 436, 989 436, 989
NHL2JE  fHhnine AT AT A N—=H  40kn¥ A 7
& 2 41, 700 83, 400

[ rxmd A R




N 2

it

£

THEX Sy« TH - FERI - HH50 b -4 T B B G AT G| T E (A5
NHL2JE  fHnine BRI
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BERR A% i i s
= 1 3,077, 885
T B R AL LS E R AR s
= 1 1, 839, 553
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= 1 699, 927
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= 1 2, 656, 134
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= 1 1, 256, 280
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= 1 699, 927
JH A OEAE L — NS
= 1 699, 927
Pias HLR R
= 1 35, 562, 579
T8 HE
= 1 9,228, 185
THRET
= 1 9,228, 185
3k
= 1 9,228, 185
CCTVH A Z 3AE 719. 3kg/H K VOVE/AE N RS
H 0 1,274, 628 0
CCTVH A Z 3AE 816kg/H & IoVh A ERLE
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ifi 1 106, 385 106, 385
4y YR AT
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= 1 164, 210
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ifi 1 106, 385 106, 385
4y YR AT
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m 10 1,493 14, 930
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= 1 9,924
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m 2 749.5 1,499
K — TV SRR SM-4C
&0 1 35, 440 35, 440
Yo — 7V oy B SM-4C
&0 1 67, 129 67,129
W r — T R EAR S R SM-4C
718 1 15, 417 15, 417
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*Fm) 1 21, 467 21, 467
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ZRFE AR B
[B]
AH 40 13, 836 553, 440
B T HE
= 1 5,810, 755
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